
81w w w.rhe em.co .nz

DIMENSIONS AND TECHNICAL DATA TABLE

Circulator Type UPS 20-60N UPS 32-80N

Model Type Standard Deluxe Standard Deluxe

Model Number 99501270 99501272 99501271 99501293

Liquid Temperature Range °C 2-110 2-110 2-110 2-110

Max. Ambient Temperature °C 40 40 40 40

Max. Operating Pressure kPa 1000 1000 1000 1000

Pipe Connection BSP R¾ R¾ R1¼ R1¼

Height x Length mm 990 x 340 990 x 340 990 x 340 990 x 340

Net Weight kg 24 27 31 33

Electrical Rating 240V/50Hz 240V/50Hz 240V/50Hz 240V/50Hz

Max. Current  Amps                     0.74 0.74 1.96 1.96

Pump Housing Stainless Steel Stainless Steel Stainless Steel Stainless Steel

Impeller Composite,  
PES/PP

Composite,  
PES/PP

Composite,  
PES/PP

Composite,  
PES/PP

IP Rating of Pumps IP44 IP44 IP44 IP44

IP Rating of Control Panels IP54 IP54 IP54 IP54

Redi-set dual pump sets provide redundancy 
back up and are an ideal means of reducing 
energy consumption by timing the operation of 
the pumps when required.

FOR REDUCING ENERGY CONSUMPTION 
AND PROVIDING REDUNDANCY BACK UP

Redi-Set Dual Pump Sets

The systems incorporate Grundfos UPS 20-60N  

or UPS 32-80N stainless steel pump and 

manifolds. The complete system is mounted on 

a galvanized base frame with two holes on each 

side for easy mounting. The system includes 

non return valves and shut off valves integrated 

into a manifold arrangement to allow removal of 

one pump whilst the other is in operation. 

An isolation valve should be installed in the 

suction and discharge lines for easy maintenance 

and removal (not supplied). Control panels are 

grey powder coated metal and are supplied with 

an electrical test certificate and wiring diagram 

inserted on the inside of the control panel door. 

21SCREW SOCKET HEAD CAP M8X20 A400ID13684

20BOLT M10X20 GALV00ID19862

19NUT HEX M8 A4 NYLOC + DELTA00ID20614

18M10 A2 DIN934 Box Nut00ID84552

17DN32 UNION BALL VALVE SET5055392

16VALVE SWING CHECK DN32 BRONZE SCREWED913385212

15BASE FRAME DUAL CIRCULATOR 990x340x20913387681

14PIPE CLAMP UN8-43913410432

13WASHER FLAT M10 GALV DIN125A913448802

12CONDUIT FLEX 25mm (90225CMGY)913472570.35

11CAP POLY 32MM980706912

10KIT NAMEPLATE BOOSTER981061111

9CABLE 3x1.5mm² (2C+E)983359542

8SADDLE CLAMP984291982

7UPS 32-80N 180 240V989289592

6CONTROL PANEL DUAL UPS STD989742661

5DUAL UPS DN32 MANIFOLD 316SS990237402

4CRATE 1100x365x325CR0000411

3LABEL PUMP 1 (PLASTIC)LB0101191

2LABEL PUMP 2 (PLASTIC)LB0101201

1NIPPLE HEX SS 32X32SF0432322

ITEMDESCRIPTIONPART NUMBERQTY

1 2 3 4

A

B

C

D

E

F

1 2 3 4

A

B

C

D

E

FTEL. (08) 8461 4611   FAX. (08) 8340 0155   ACN. 007 920 765
TITLE:

SIZE: DRG 
NO:

REV:
THIS IS THE PROPERTY OF GRUNDFOS PUMPS

AUSTRALIA AND MUST NOT BE COPIED OR
COMMUNICATED TO A THIRD PARTY UNLESS

AUTHORISED IN WRITING BY GRUNDFOS PUMPS

DESIGN:

DETAIL:

DATE:

DATE:

JOB NO:

ALL DIMENSIONS IN MILLIMETRES

SCALE:

A3

91349121

91349121_1 
2 UPS32-80 N DUPLEX CIRC STD (SS)

D.NGUYEN 5/08/2014

D.NGUYEN 5/08/2014

D

1:5

1/08/2018 REVISED MANIFOLD       D.N. D
8/10/2015 REVISED PUMP AND CONTROL PANEL       D.N. C
5/08/2014 REVISED DRAWING CHANGES       D.N. B

REVISION HISTORY
DATE DESCRIPTION ENGINEER REV

APPROX MASS: 30.5 kg

NOTES:
1. PIPEWORK/FITTINGS: STAINLESS STEEL (BRASS UNION SET)
2. NON RETURN VALVE: DN32 BRONZE SWING CHECK (OR EQUIVALENT)
3. BASE FRAME: 2MM FOLDED GALV SHEET
4. CONTROL PANEL: 300x300 (REPRESENTATION ONLY)
5. CONNECTION: 32MM (1 1/4" BSP) MALE

FRONT VIEW

ISO VIEW

SUCTION

15

17

16

16

1

17

14

79
0

10
0

3248

340

99
0

77

Ø10 HOLE
FOR WALL MOUNTING
4 PLACES

1

5

5

DISCHARGE

51
0
�

5

6

21SCREW SOCKET HEAD CAP M8X2000ID13684

20BOLT M10X20 GALV00ID19862

19NUT HEX M8 A4 NYLOC + DELTA00ID20614

18NUT BOX M10 A200ID84552

17DN32 UNION BALL VALVE SET5055392

16VALVE SWING CHECK DN32 BRONZE SCREWED913385212

15BASE FRAME DUAL CIRCULATOR 990x340x20913387681

14PIPE CLAMP UN8-43913410432

13WASHER FLAT M10 GALV DIN125A913448802

12CONDUIT FLEX 25mm (90225CMGY)913472570.35

11CAP POLY 32MM980706912

10KIT NAMEPLATE BOOSTER981061111

9CABLE 3x1.5mm² (2C+E)983359542

8SADDLE CLAMP984291982

7DUAL UPS DN32 MANIFOLD SS985212612

6UPS 32-80N 180 240V989289592

5CONTROL PANEL DUAL UPS DLX989742671

4CRATE 1100x365x325CR0000411

3LABEL PUMP 1 (PLASTIC)LB0101191

2LABEL PUMP 2 (PLASTIC)LB0101201

1NIPPLE HEX SS 32X32SF0432322

ITEMDESCRIPTIONPART NUMBERQTY

1 2 3 4

A

B

C

D

E

F

1 2 3 4

A

B

C

D

E

FTEL. (08) 8461 4611   FAX. (08) 8340 0155   ACN. 007 920 765
TITLE:

SIZE: DRG 
NO:

REV:
THIS IS THE PROPERTY OF GRUNDFOS PUMPS

AUSTRALIA AND MUST NOT BE COPIED OR
COMMUNICATED TO A THIRD PARTY UNLESS

AUTHORISED IN WRITING BY GRUNDFOS PUMPS

DESIGN:

DETAIL:

DATE:

DATE:

JOB NO:

ALL DIMENSIONS IN MILLIMETRES

SCALE:

A3

91348640

91348640_1 
2 UPS32-80 N DUAL CIRC DELUXE (SS)

D.NGUYEN 5/08/2014

D.NGUYEN 5/08/2014

D

1:5

8/10/2018 REVISED PUMP AND CONTROL PANEL       D.N. D
5/08/2014 REVISED DRAWING CHANGES       D.N. C

REVISION HISTORY
DATE DESCRIPTION ENGINEER REV

APPROX MASS: 31.3 kg

NOTES:
1. PIPEWORK/FITTINGS: STAINLESS STEEL (BRASS UNION SET)
2. NON RETURN VALVE: DN32 BRONZE SWING CHECK (OR EQUIVALENT)
3. BASE FRAME: 2MM FOLDED GALV SHEET
4. CONTROL PANEL: 300x400 (REPRESENTATION ONLY)
5. CONNECTION: 32MM (1 1/4" BSP) MALE

FRONT VIEW

ISO VIEW

SUCTION

5

15

17

1616

1

17

14

79
0

10
0

3248

66

7

7

51
0
�

5

DISCHARGE

Ø10 HOLE
FOR WALL MOUNTING
4 PLACES

1

340

99
0

Standard Model

The Standard model has one switch- Pump 

1/Auto/Pump 2 – mounted on the front 

panel with auto pump change over every 

twelve hours. The panel is key lockable. 

Deluxe Model 

The deluxe model incorporates separate 

Pump 1 and Pump 2 Auto / Off /Manual 

switches and red fault / green run indicator 

lights on the front panel. 

This model incorporates auto pump duty 

change over on a time clock basis every 

twelve hours and run/alarm outputs for 

BMS connection.

Standard Model Deluxe Model

CHILLING
LOAD

80 
YEARS LOCAL
MANUFACTURING CERTIFIED

REDUCEDSTAINLESS
STEEL PUMP

DUALLOCKABLE
ELECTRIC SOLARHEAT PUMP

WATER SAVING BOILING/
CHILLED

CONTROL
TEMP

HOT &
COLD

FILTERED
BOILING

FILTERED
CHILLED

FILTERED
AMBIENT

PUMP ACCESSORIES

*total of initial delivery and recovery per/hr (cup size 170ml)



82 w w w.rhe em.co .nz

Pump curve

Q(l/s)0 0.5 1.0 1.5 2.0 2.5

H
(m)

1

2

3

4

5

6

7

 UPS 32-80 N 180    1* 240 V, 50 Hz
Pumped liquid = Water
Liquid temperature = 20 °C
Density = 998.2 kg/m³

Speed 3

Speed 2

Speed 1

Q(l/s)0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1.0 1.1

H
(m)

1

2

3

4

5

Speed 3

6

 UPS 20-60 N 150    1* 240 V, 50 Hz
Pumped liquid = Water
Liquid temperature = 20 °C
Density = 998.2 kg/m³

Speed 2

Speed 1

UPS 20-60N UPS 32-80N

The Pump/C controller model 6060262-4 is used to control the 
circulating pump operation when used in conjunction with a direct 
or indirect storage tank.

The controller (used in Tankpak concept options & various other 
hot water control strategies) senses temperature within the storage 
tank and controls the flow of water by an Operating Thermostat 
Sensor (Eliwell IC902). This can then turn on a pump, open or close 
a 3-way valve etc.

Features 
• User display ensures accurate temperature control

• Adjustable thermostat sensor provides flexibility

• Built in Energy Cut Out Thermostat (ECO) ensures safety and 
reliability

• Double Pole Double Throw (DPDT) pump control relay with 
maximum current limit of 6A provides options for a variety of 
applications. 

Outdoor cover
Redi-Set pumps can 
be installed outdoor by 
installing outdoor covers 
supplied by Rheem. 
The part number for 
the outdoor cover is 
AQ2051057. 

Note: The outdoor 
cover must be ordered 
separately for outdoor 
installation.

PUMP/C CONTROLLER

TECHNICAL DATA

Pump/C Controller warranty: 1 year on parts & labour


